## IFB15-0048 Storm Sewer Cleaning and Inspection

				EnviroWaste Services									
				Altair Environmental Group B & D Enterprises			terprises	Gro	oup	Evans Contracting Services		VacVision Environmental	
				Unit Price (numbers		Unit Price (numbers		Unit Price (numbers		Unit Price (numbers		Unit Price (numbers	
Item	Description	Quantity	Unit	only)	Total	only)	Total	only)	Total	only)	Total	only)	Total
	JP I - Storm Sewer Cleaning			- //		,,		- ,,		- 11		- //	7 5 5 5 1
	Light to Medium Cleaning	Ī	I										
	(debris & sediment fills 0% to 29% of diameter)												
1	pipe sizes 15 inch thru 24 inch	1000	LF	\$1.90	\$1,900.00	\$3.50	\$3,500.00	\$4.00	\$4,000.00	\$3.00	\$3,000.00	\$8.00	\$8,000.00
	Light to Medium Cleaning				, ,		• ,				. ,		
	(debris & sediment fills 0% to 29% of diameter)												
2	pipe sizes 30 inch thru 48 inch	1000	LF	\$2.25	\$2,250.00	\$4.50	\$4,500.00	\$6.00	\$6,000.00	\$5.00	\$5,000.00	\$17.00	\$17,000.00
	Light to Medium Cleaning												
	(debris & sediment fills 0% to 29% of diameter)												
3	pipe sizes 54 inch thru 78 inch	1000	LF	\$3.00	\$3,000.00	\$6.50	\$6,500.00	\$8.00	\$8,000.00	\$7.00	\$7,000.00	\$45.00	\$45,000.00
	Light to Medium Cleaning												
	(debris & sediment fills 0% to 29% of diameter)												
4	pipe sizes 84 inch thru 108 inch	1000	LF	\$6.50	\$6,500.00	\$6.50	\$6,500.00	\$10.00	\$10,000.00	\$10.00	\$10,000.00	\$70.00	\$70,000.00
	Heavy Cleaning												
	(debris & sediment fills 30% to 100%)												
5	pipe sizes 15 inch thru 24 inch	1000	LF	\$2.25	\$2,250.00	\$5.50	\$5,500.00	\$4.00	\$4,000.00	\$4.00	\$4,000.00	\$11.00	\$11,000.00
	Heavy Cleaning												
	(debris & sediment fills 30% to 100%)							4				4	
6	30 inch thru 48 inch	1000	LF	\$3.00	\$3,000.00	\$7.50	\$7,500.00	\$6.00	\$6,000.00	\$6.00	\$6,000.00	\$28.00	\$28,000.00
	Heavy Cleaning												
	(debris & sediment fills 30% to 100%) 54 inch thru 78 inch			40.00		4	4	40.00	4	40.00		40= 00	4
7		1000	LF	\$9.00	\$9,000.00	\$9.50	\$9,500.00	\$8.00	\$8,000.00	\$8.00	\$8,000.00	\$95.00	\$95,000.00
	Heavy Cleaning (debris & sediment fills 30% to 100%)												
	84 inch thru 108 inch	500		ć4F 00	47 500 00	40.50	44.750.00	ć4.4.00	47.000.00	ć4F 00	47.500.00	¢220.00	4445 000 00
8	Hourly rate to remove and clean debris and materials	500	LF	\$15.00	\$7,500.00	\$9.50	\$4,750.00	\$14.00	\$7,000.00	\$15.00	\$7,500.00	\$230.00	\$115,000.00
	from Stormwater Structures	00	l	¢50.00	¢4.000.00	6400.00	¢0,000,00	¢47F.00	64.4.000.00	¢250.00	¢20.000.00	6250.00	¢20,000,00
9	Hourly rate for after hour response to remove blockage	80	Hour	\$50.00	\$4,000.00	\$100.00	\$8,000.00	\$175.00	\$14,000.00	\$250.00	\$20,000.00	\$250.00	\$20,000.00
40	from storm drains using Vactor Trucks	00	l	¢200.00	¢46,000,00	6400.00	¢0,000,00	¢475.00	64.4.000.00	¢500.00	¢40.000.00	¢205.00	¢24 500 00
	_	80	Hour	\$200.00	\$16,000.00	\$100.00	\$8,000.00	\$175.00	, ,	\$500.00	\$40,000.00	\$395.00	\$31,600.00
	Subtotal for Group I Storm Sewer Cleaning:				\$55,400.00		\$64,250.00		\$81,000.00		\$110,500.00		\$440,600.00

GROU	JP II - Storm Line Plugs												
11	Pipes sizes from 15 inch thru 24 inch												
<b>11</b> a	Per Day	5	EA	\$10.00	\$50.00	\$25.00	\$125.00	\$150.00	\$750.00	\$50.00	\$250.00	\$400.00	\$2,000.00
11b	7 Day Period minimum	2	EA	\$50.00	\$100.00	\$25.00	\$50.00	\$300.00	\$600.00	\$250.00	\$500.00	\$850.00	\$1,700.00
11c	30 Day Period minimum	1	EA	\$50.00	\$50.00	\$25.00	\$25.00	\$800.00	\$800.00	\$1,000.00	\$1,000.00	\$2,250.00	\$2,250.00
12	Pipes sizes from 30 inch thru 48 inch												
<b>12</b> a	Per Day	5	EA	\$40.00	\$200.00	\$200.00	\$1,000.00	\$300.00	\$1,500.00	\$75.00	\$375.00	\$800.00	\$4,000.00
12b	7 Day Period minimum	2	EA	\$200.00	\$400.00	\$200.00	\$400.00	\$800.00	\$1,600.00	\$325.00	\$650.00	\$2,500.00	\$5,000.00
12c	30 Day Period minimum	1	EA	\$200.00	\$200.00	\$200.00	\$200.00	\$2,000.00	\$2,000.00	\$975.00	\$975.00	\$3,500.00	\$3,500.00
13	Pipes sizes from 54 inch thru 78 inch												
13a	Per Day	5	EA	\$400.00	\$2,000.00	\$600.00	\$3,000.00	\$700.00	\$3,500.00	\$125.00	\$625.00	\$1,600.00	\$8,000.00
13b	7 Day Period minimum	2	EA	\$600.00	\$1,200.00	\$1,200.00	\$2,400.00	\$2,000.00	\$4,000.00	\$375.00	\$750.00	\$3,000.00	\$6,000.00
13c	30 Day Period minimum	1	EA	\$600.00	\$600.00	\$2,800.00	\$2,800.00	\$4,000.00	\$4,000.00	\$1,125.00	\$1,125.00	\$5,800.00	\$5,800.00
14	Pipes sizes from 84 inch thru 108 inch												
14a	Per Day	5	EA	\$800.00	\$4,000.00	\$600.00	\$3,000.00	\$1,000.00	\$5,000.00	\$150.00	\$750.00	\$3,500.00	\$17,500.00
14b	7 Day Period minimum	2	EA	\$1,200.00	\$2,400.00	\$1,200.00	\$2,400.00	\$2,500.00	\$5,000.00	\$450.00	\$900.00	\$3,500.00	\$7,000.00
14c	30 Day Period minimum	1	EA	\$1,200.00	\$1,200.00	\$2,800.00	\$2,800.00	\$5,000.00	\$5,000.00	\$1,350.00	\$1,350.00	\$7,900.00	\$7,900.00
	Subtotal for Group II Storm Line Plugs:				\$12,400.00		\$18,200.00		\$33,750.00		\$9,250.00		\$70,650.00
	JP III - Storm Sewer Video Inspection/Recording												
	Video Inspection/Recording of pipe sizes from 15 inch thru												
15	24 inch	1000	LF	\$3.00	\$3,000.00	\$2.00	\$2,000.00	\$5.00	\$5,000.00	\$2.00	\$2,000.00	\$2.00	\$2,000.00
	Video Inspection/Recording of pipe sizes from 30 inch thru												
16	48 inch	1000	LF	\$3.00	\$3,000.00	\$2.00	\$2,000.00	\$8.00	\$8,000.00	\$2.00	\$2,000.00	\$2.00	\$2,000.00
	Video Inspection/Recording of pipe sizes from 54 inch thru												
17	78 inch	1000	LF	\$6.00	\$6,000.00	\$1.00	\$1,000.00	\$12.00	\$12,000.00	\$2.00	\$2,000.00	\$2.00	\$2,000.00
	Video Inspection/Recording of pipe sizes from 84 inch thru												
18	3 108 inch 1000 LF \$7.00				\$7,000.00	\$1.00	\$1,000.00	\$16.00	\$16,000.00	\$2.00	\$2,000.00	\$2.00	\$2,000.00
	Subtotal for Group III Storm Sewer Video	440,000,00		45,000,00		444 000 00		40.000.00		40.000.00			
	Inspection/Recording:	\$19,000.00		\$6,000.00		\$41,000.00		\$8,000.00		\$8,000.00			

GRO	UP IV - Joint Repair (Chemical Grout)					_							
19	4 joints or less - 15 inch (Unit Price is per joint.)	1	EA	\$65.00	\$65.00	\$25.00	\$25.00	\$75.00	\$75.00	\$200.00	\$200.00	\$450.00	\$450.00
20	5 joints or more - 15 inch (Unit Price is per joint.)	1	EA	\$60.00	\$60.00	\$150.00	\$150.00	\$50.00	\$50.00	\$150.00	\$150.00	\$400.00	\$400.00
21	4 joints or less - 18 inch (Unit Price is per joint.)	1	EA	\$65.00	\$65.00	\$25.00	\$25.00	\$85.00	\$85.00	\$250.00	\$250.00	\$450.00	\$450.00
22	5 joints or more - 18 inch (Unit Price is per joint.)	1	EA	\$60.00	\$60.00	\$150.00	\$150.00	\$60.00	\$60.00	\$200.00	\$200.00	\$400.00	\$400.00
23	4 joints or less - 24 inch (Unit Price is per joint.)	1	EA	\$175.00	\$175.00	\$25.00	\$25.00	\$100.00	\$100.00	\$250.00	\$250.00	\$450.00	\$450.00
24	5 joints or more - 24 inch (Unit Price is per joint.)	1	EA	\$160.00	\$160.00	\$150.00	\$150.00	\$80.00	\$80.00	\$200.00	\$200.00	\$400.00	\$400.00
25	4 joints or less - 30 inch (Unit Price is per joint.)	1	EA	\$250.00	\$250.00	\$25.00	\$25.00	\$140.00	\$140.00	\$250.00	\$250.00	\$600.00	\$600.00
26	5 joints or more - 30 inch (Unit Price is per joint.)	1	EA	\$170.00	\$170.00	\$225.00	\$225.00	\$100.00	\$100.00	\$200.00	\$200.00	\$550.00	\$550.00
27	4 joints or less - 36 inch (Unit Price is per joint.)	1	EA	\$350.00	\$350.00	\$25.00	\$25.00	\$200.00	\$200.00	\$350.00	\$350.00	\$600.00	\$600.00
28	5 joints or more - 36 inch (Unit Price is per joint.)	1	EA	\$200.00	\$200.00	\$250.00	\$250.00	\$120.00	\$120.00	\$300.00	\$300.00	\$550.00	\$550.00
29	4 joints or less - 42 inch (Unit Price is per joint.)	1	EA	\$375.00	\$375.00	\$50.00	\$50.00	\$200.00	\$200.00	\$350.00	\$350.00	\$700.00	\$700.00
30	5 joints or more - 42 inch (Unit Price is per joint.)	1	EA	\$300.00	\$300.00	\$350.00	\$350.00	\$130.00	\$130.00	\$300.00	\$300.00	\$650.00	\$650.00
31	4 joints or less - 48 inch (Unit Price is per joint.)	1	EA	\$450.00	\$450.00	\$50.00	\$50.00	\$250.00	\$250.00	\$400.00	\$400.00	\$700.00	\$700.00
32	5 joints or more - 48 inch (Unit Price is per joint.)	1	EA	\$400.00	\$400.00	\$350.00	\$350.00	\$150.00	\$150.00	\$450.00	\$450.00	\$650.00	\$650.00
33	4 joints or less - 54 inch (Unit Price is per joint.)	1	EA	\$550.00	\$550.00	\$50.00	\$50.00	\$250.00	\$250.00	\$450.00	\$450.00	\$1,000.00	\$1,000.00
34	5 joints or more - 54 inch (Unit Price is per joint.)	1	EA	\$500.00	\$500.00	\$350.00	\$350.00	\$150.00	\$150.00	\$400.00	\$400.00	\$950.00	\$950.00
35	4 joints or less - 60 inch (Unit Price is per joint.)	1	EA	\$650.00	\$650.00	\$50.00	\$50.00	\$275.00	\$275.00	\$550.00	\$550.00	\$1,100.00	\$1,100.00
36	5 joints or more - 60 inch (Unit Price is per joint.)	1	EA	\$600.00	\$600.00	\$350.00	\$350.00	\$150.00	\$150.00	\$500.00	\$500.00	\$1,050.00	\$1,050.00
37	4 joints or less - 66 inch (Unit Price is per joint.)	1	EA	\$750.00	\$750.00	\$50.00	\$50.00	\$300.00	\$300.00	\$650.00	\$650.00	\$1,200.00	\$1,200.00
38	5 joints or more - 66 inch (Unit Price is per joint.)	1	EA	\$700.00	\$700.00	\$350.00	\$350.00	\$160.00	\$160.00	\$1,000.00	\$1,000.00	\$1,150.00	\$1,150.00
39	4 joints or less - 72 inch (Unit Price is per joint.)	1	EA	\$850.00	\$850.00	\$50.00	\$50.00	\$325.00	\$325.00	\$750.00	\$750.00	\$1,500.00	\$1,500.00
40	5 joints or more - 72 inch (Unit Price is per joint.)	1	EA	\$800.00	\$800.00	\$350.00	\$350.00	\$170.00	\$170.00	\$700.00	\$700.00	\$1,500.00	\$1,500.00
41	4 joints or less - 84 inch (Unit Price is per joint.)	1	EA	\$950.00	\$950.00	\$50.00	\$50.00	\$350.00	\$350.00	\$850.00	\$850.00	\$2,000.00	\$2,000.00
42	5 joints or more - 84 inch (Unit Price is per joint.)	1	EA	\$900.00	\$900.00	\$350.00	\$350.00	\$180.00	\$180.00	\$800.00	\$800.00	\$2,000.00	\$2,000.00
43	4 joints or less - 96 inch (Unit Price is per joint.)	1	EA	\$1,050.00	\$1,050.00	\$50.00	\$50.00	\$375.00	\$375.00	\$950.00	\$950.00	\$2,500.00	\$2,500.00
44	5 joints or more - 96 inch (Unit Price is per joint.)	1	EA	\$1,000.00	\$1,000.00	\$350.00	\$350.00	\$190.00	\$190.00	\$900.00	\$900.00	\$2,500.00	\$2,500.00
45	4 joints or less 108 inch (Unit Price is per joint.)	1	EA	\$1,200.00	\$1,200.00	\$50.00	\$50.00	\$400.00	\$400.00	\$1,050.00	\$1,050.00	\$3,000.00	\$3,000.00
46	5 joints or more - 108 inch (Unit Price is per joint.)	1	EA	\$1,100.00	\$1,100.00	\$350.00	\$350.00	\$200.00	\$200.00	\$1,000.00	\$1,000.00	\$3,000.00	\$3,000.00
Subtotal for Group IV Joint Repair (Chemical Group): \$14,6							\$4,650.00		\$5,215.00		\$14,400.00		\$32,000.00

GRO	UP V - Internal Joint Seals (Rubber)	_				_							
	Mobilization for job with requirements of installing 1 to 10												
	internal joint seals for pipe size of 24 in. to 48 in. (Unit Price												
47	is per joint.)	1	EA	\$1,500.00	\$1,500.00	\$500.00	\$500.00	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00
	Mobilization for job with requirements of installing 11 and												
	over internal joint seals for pipe size of 24 in. to 48 in. (Unit												
48	Price is per joint.)	1	EA	\$500.00	\$500.00	\$50.00	\$50.00	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	\$500.00	\$500.00
	Mobilization for job with requirements of installing 1 to 10												
	internal joint seals for pipe size of 54 in. to 78 in. (Unit Price												
49	is per joint.)	1	EA	\$1,500.00	\$1,500.00	\$500.00	\$500.00	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00
	Mobilization for job with requirements of installing 11 and												
	over internal joint seals for pipe size of 54 in. to 78 in. (Unit												
50	Price is per joint.)	1	EA	\$500.00	\$500.00	\$50.00	\$50.00	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	\$500.00	\$500.00
	Mobilization for job with requirements of installing 1 to 10												
	internal joint seals for pipe size of 84 in. to 108 in. (Unit Price												
51	is per joint.)	1	EA	\$1,500.00	\$1,500.00	\$200.00	\$200.00	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00
	Mobilization for job with requirements of installing 11 and												
	over internal joint seals for pipe size of 84 in. to 108 in. (Unit												
52	Price is per joint.)	1	EA	\$500.00	\$500.00	\$50.00	\$50.00	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	\$500.00	\$500.00
	Dewatering for job with requirements of installing internal												
	joint seals for pipe size of 24 in. to 48 in. (Unit Price is per												
53	joint.)	1	EA	\$500.00	\$500.00	\$200.00	\$200.00	\$1,000.00	\$1,000.00	\$750.00	\$750.00	\$500.00	\$500.00
	Dewatering for job with requirements of installing internal												
	joint seals for pipe size of 54 in. to 78 in. (Unit Price is per												
54	joint.)	1	EA	\$500.00	\$500.00	\$200.00	\$200.00	\$1,000.00	\$1,000.00	\$850.00	\$850.00	\$1,000.00	\$1,000.00
	Dewatering for job with requirement of installing internal												
	joint seal for pipe size of 84 in. to 108 in. (Unit Price is per												
55	joint.)	1	EA	\$500.00	\$500.00	\$200.00	\$200.00	\$1,000.00	\$1,000.00	\$950.00	\$950.00	\$1,500.00	\$1,500.00
	For 24 in. host pipe, for job with requirement of 1 to 10												
56	internal joint seals. (Unit Price is per joint.)	1	EA	\$670.00	\$670.00	\$475.00	\$475.00	\$350.00	\$350.00	\$500.00	\$500.00	\$550.00	\$550.00
	For 24 in. host pipe, from 11 and over internal joint seals.												
57	(Unit Price is per joint.)	1	EA	\$623.10	\$623.10	\$475.00	\$475.00	\$300.00	\$300.00	\$450.00	\$450.00	\$550.00	\$550.00
	For 30 in. host pipe, for job with requirement of 1 to 10												
58	internal joint seals. (Unit Price is per joint.)	1	EA	\$740.00	\$740.00	\$680.00	\$680.00	\$400.00	\$400.00	\$600.00	\$600.00	\$700.00	\$700.00
	For 30 in. host pipe, from 11 and over internal joint seals.												
59	(Unit Price is per joint.)	1	EA	\$688.20	\$688.20	\$680.00	\$680.00	\$350.00	\$350.00	\$550.00	\$550.00	\$700.00	\$700.00
	For 36 in. host pipe, for job with requirement of 1 to 10												
60	internal joint seals. (Unit Price is per joint.)	1	EA	\$920.00	\$920.00	\$750.00	\$750.00	\$500.00	\$500.00	\$700.00	\$700.00	\$750.00	\$750.00
	For 36 in. host pipe, from 11 and over internal joint seals.		1				·		•		-		
61	(Unit Price is per joint.)	1	EA	\$855.60	\$855.60	\$750.00	\$750.00	\$450.00	\$450.00	\$650.00	\$650.00	\$750.00	\$750.00
	For 42 in. host pipe, for job with requirement of 1 to 10		1				·		•				
62	internal joint seals. (Unit Price is per joint.)	1	EA	\$980.00	\$980.00	\$1,000.00	\$1,000.00	\$550.00	\$550.00	\$800.00	\$800.00	\$850.00	\$850.00
	For 42 in. host pipe, from 11 and over internal joint seals.				,		. ,						,
63	(Unit Price is per joint.)	1	EA	\$911.40	\$911.40	\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$750.00	\$750.00	\$850.00	\$850.00
	(Onit i rice is per joint.)			<b>7011110</b>	Ψ <b>311.</b> 10	ψ±,300.00	Ψ=,000.00	7500.00	Ţ300.00	φ. 30.00	Ţ, 30.00	Ţ350.00	Ç000.00

	For 48 in. host pipe, for job with requirement of 1 to 10												
64	internal joint seals. (Unit Price is per joint.)	1	EA	\$1,080.00	\$1,080.00	\$1,100.00	\$1,100.00	\$750.00	\$750.00	\$900.00	\$900.00	\$1,100.00	\$1,100.00
	For 48 in. host pipe, from 11 and over internal joint seals.												
65	(Unit Price is per joint.)	1	EA	\$1,004.40	\$1,004.40	\$1,100.00	\$1,100.00	\$700.00	\$700.00	\$850.00	\$850.00	\$1,100.00	\$1,100.00
	For 54 in. host pipe, for job with requirement of 1 to 10												
66	internal joint seals. (Unit Price is per joint.)	1	EA	\$1,170.00	\$1,170.00	\$1,180.00	\$1,180.00	\$850.00	\$850.00	\$1,000.00	\$1,000.00	\$1,450.00	\$1,450.00
	For 54 in. host pipe, from 11 and over internal joint seals.												
67	(Unit Price is per joint.)	1	EA	\$1,088.10	\$1,088.10	\$1,180.00	\$1,180.00	\$800.00	\$800.00	\$950.00	\$950.00	\$1,450.00	\$1,450.00
	For 60 in. host pipe, for job with requirement of 1 to 10			4				4		4			
68	internal joint seals. (Unit Price is per joint.)	1	EA	\$1,450.00	\$1,450.00	\$1,250.00	\$1,250.00	\$900.00	\$900.00	\$1,100.00	\$1,100.00	\$2,000.00	\$2,000.00
	For 66 in. host pipe, for job with requirement of 1 to 10			64 740 00	4	40=0.00	40-000	44 000 00	** ***	64.050.00	4. 0=0 00	62.400.00	42.400.00
69	internal joint seals. (Unit Price is per joint.)	1	EA	\$1,740.00	\$1,740.00	\$950.00	\$950.00	\$1,000.00	\$1,000.00	\$1,050.00	\$1,050.00	\$2,100.00	\$2,100.00
70	For 60 in. host pipe, from 11 and over internal joint seals.	4		ć4 240 F0	64 240 50	64.250.00	ć4 250 00	¢050.00	¢050.00	ć1 200 00	¢4 200 00	ć1 050 00	¢4.050.00
70	(Unit Price is per joint.)	1	EA	\$1,348.50	\$1,348.50	\$1,250.00	\$1,250.00	\$850.00	\$850.00	\$1,200.00	\$1,200.00	\$1,950.00	\$1,950.00
71	For 66 in. host pipe, from 11 and over internal joint seals.	1	EA	\$1,618.20	\$1,618.20	\$950.00	\$950.00	\$950.00	\$950.00	\$1,150.00	\$1,150.00	\$2,000.00	\$2,000.00
71	(Unit Price is per joint.)	1	EA	\$1,016.20	\$1,016.20	\$950.00	\$950.00	\$950.00	\$950.00	\$1,150.00	\$1,150.00	\$2,000.00	\$2,000.00
72	For 72 in. host pipe, for job with requirement of 1 to 10	1	EA	\$1,900.00	\$1,900.00	\$1,500.00	\$1,500.00	\$1,100.00	\$1,100.00	\$1,300.00	\$1,300.00	\$2,200.00	\$2,200.00
72	internal joint seals. (Unit Price is per joint.)	1	LA	\$1,900.00	\$1,900.00	\$1,500.00	\$1,500.00	\$1,100.00	\$1,100.00	\$1,300.00	\$1,300.00	\$2,200.00	\$2,200.00
73	For 72 in. host pipe, from 11 and over internal joint seals. (Unit Price is per joint.)	1	EA	\$1,767.00	\$1,767.00	\$1,500.00	\$1,500.00	\$1,050.00	\$1,050.00	\$1,250.00	\$1,250.00	\$2,150.00	\$2,150.00
	For 78 in. host pipe, for job with requirement of 1 to 10		LA	<b>Ϋ1,707.00</b>	\$1,707.00	\$1,500.00	71,500.00	71,030.00	\$1,030.00	71,230.00	\$1,230.00	72,130.00	\$2,130.00
74	internal joint seals. (Unit Price is per joint.)	1	EA	\$2,020.00	\$2,020.00	\$1,300.00	\$1,300.00	\$1,300.00	\$1,300.00	\$1,400.00	\$1,400.00	\$2,500.00	\$2,500.00
-	For 78 in. host pipe, from 11 and over internal joint seals.	-		<i>φ</i> <b>2,</b> 020.00	72,020.00	71,300.00	<b>Ψ1,300.00</b>	71,300.00	71,300.00	71,100.00	71,400.00	72,300.00	\$2,300.00
75	(Unit Price is per joint.)	1	EA	\$1,878.60	\$1,878.60	\$1,300.00	\$1,300.00	\$1,250.00	\$1,250.00	\$1,350.00	\$1,350.00	\$2,450.00	\$2,450.00
	For 84 in. host pipe, for job with requirement of 1 to 10	_		<del>+ = / = / = / = /</del>	+=/01000	<b>+</b> =/000100	+=/00000	<b>4</b> = <b>/</b> = 0 0 10 0	<del>+ -/</del>	<b>+</b> = <b>/</b> =	Ţ =/555155	7-7:00:00	7-7100100
76	internal joint seals. (Unit Price is per joint.)	1	EA	\$2,260.00	\$2,260.00	\$1,450.00	\$1,450.00	\$1,400.00	\$1,400.00	\$1,500.00	\$1,500.00	\$2,700.00	\$2,700.00
	For 84 in. host pipe, from 11 and over internal joint seals.			. ,	. ,	. ,	. ,	. ,	. ,	. ,	. ,	. ,	. ,
77	(Unit Price is per joint.)	1	EA	\$2,101.80	\$2,101.80	\$1,450.00	\$1,450.00	\$1,350.00	\$1,350.00	\$1,450.00	\$1,450.00	\$2,650.00	\$2,650.00
	For 90 in. host pipe, for job with requirement of 1 to 10												
78	internal joint seals. (Unit Price is per joint.)	1	EA	\$2,380.00	\$2,380.00	\$1,550.00	\$1,550.00	\$1,500.00	\$1,500.00	\$2,000.00	\$2,000.00	\$2,900.00	\$2,900.00
	For 90 in. host pipe, from 11 and over internal joint seals.												
79	(Unit Price is per joint.)	1	EA	\$2,213.40	\$2,213.40	\$1,550.00	\$1,550.00	\$1,450.00	\$1,450.00	\$1,950.00	\$1,950.00	\$2,850.00	\$2,850.00
	For 96 in. host pipe, for job with requirement of 1 to 10												
80	internal joint seals. (Unit Price is per joint.)	1	EA	\$2,510.00	\$2,510.00	\$1,610.00	\$1,610.00	\$1,600.00	\$1,600.00	\$2,250.00	\$2,250.00	\$3,200.00	\$3,200.00
	For 96 in. host pipe, from 11 and over internal joint seals.												
81	(Unit Price is per joint.)	1	EA	\$2,334.30	\$2,334.30	\$1,610.00	\$1,610.00	\$1,500.00	\$1,500.00	\$2,200.00	\$2,200.00	\$3,150.00	\$3,150.00
	For 102 in. host pipe, for job with requirement of 1 to 10			40.555.55	4	4		A		40.000	4	40.5=5.5	4-00
82	internal joint seals. (Unit Price is per joint.)	1	EA	\$2,630.00	\$2,630.00	\$1,850.00	\$1,850.00	\$1,700.00	\$1,700.00	\$3,000.00	\$3,000.00	\$3,650.00	\$3,650.00
	For 102 in. host pipe, from 11 and over internal joint seals.	_		40.447.60	4	4.6	4	64 == 0.55	<b>4</b> 4	40 500 55	44	40.670.65	40.5
83	(Unit Price is per joint.)	1	EA	\$2,445.90	\$2,445.90	\$1,850.00	\$1,850.00	\$1,550.00	\$1,550.00	\$2,500.00	\$2,500.00	\$3,650.00	\$3,650.00
	For 108 in. host pipe, for job with requirement of 1 to 10			¢2.770.00	62.770.00	ć2 000 co	ć2 000 00	¢1 000 00	ć4 000 00	¢2.500.00	ć2 500 00	¢4.000.00	Ć4 000 00
84	internal joint seals. (Unit Price is per joint.)	1	EA	\$2,770.00	\$2,770.00	\$2,000.00	\$2,000.00	\$1,800.00	\$1,800.00	\$3,500.00	\$3,500.00	\$4,000.00	\$4,000.00
O.F.	For 108 in. host pipe, from 11 and over internal joint seals.	4	ΕΛ	¢2 F7C 40	¢2 F7C 40	¢2,000,00	¢2,000,00	\$1,600,00	¢1 con on	\$2.250.00	¢2.250.00	\$4,000,00	¢4,000,00
85	(Unit Price is per joint.)	1	EA	\$2,576.10	\$2,576.10	\$2,000.00	\$2,000.00	\$1,600.00		\$3,250.00		\$4,000.00	
	Subtotal for Group V Internal Joint Seals (Rubber):				\$56,174.60		\$39,240.00		\$39,350.00		\$53,650.00		\$68,400.00

GROU	JP VI - Miscellaneous Services												
86	Radar Inspection	100	Hour	\$65.00	\$6,500.00	\$75.00	\$7,500.00	\$45.00	\$4,500.00	\$250.00	\$25,000.00	\$250.00	\$25,000.00
87	Cement Based Grout Injection	500	CF	\$20.00	\$10,000.00	\$25.00	\$12,500.00	\$30.00	\$15,000.00	\$125.00	\$62,500.00	\$200.00	\$100,000.00
88	Drill and Patch Holes	100	EA	\$45.00	\$4,500.00	\$50.00	\$5,000.00	\$1.00	\$100.00	\$500.00	\$50,000.00	\$200.00	\$20,000.00
89	Set Up Charge (Job Location)	15	EA	\$500.00	\$7,500.00	\$1,600.00	\$24,000.00	\$1.00	\$15.00	\$1,500.00	\$22,500.00	\$1,000.00	\$15,000.00
90	Cracks All Pipes Sizes	250	LF	\$65.00	\$16,250.00	\$50.00	\$12,500.00	\$10.00	\$2,500.00	\$150.00	\$37,500.00	\$100.00	\$25,000.00
91	Commercial Diving Team services - Job Specific	24	Hour	\$300.00	\$7,200.00	\$200.00	\$4,800.00	\$175.00	\$4,200.00	\$500.00	\$12,000.00	\$300.00	\$7,200.00
92	Regular Hourly rate for additional work	160	Hour	\$65.00	\$10,400.00	\$150.00	\$24,000.00	\$125.00	\$20,000.00	\$250.00	\$40,000.00	\$250.00	\$40,000.00
93	Overtime Hourly rate for additional work	40	Hour	\$85.00	\$3,400.00	\$150.00	\$6,000.00	\$125.00	\$5,000.00	\$500.00	\$20,000.00	\$300.00	\$12,000.00
	Subtotal for Group VI Miscellaneous Services	\$65,750.00		\$96,300.00		\$51,315.00		\$269,500.00		\$244,200.00			
Calculated Grand Total (Groups I, II, III, IV, V, VI) \$223,404.60													
Calcu	lated Grand Total (Groups I, II, III, IV, V, VI)		\$228,640.00		\$251,630.00		\$465,300.00		\$863,850.00				

## IFB15-0048 STORM SEWER CLEANING AND INSPECTIONS IFB Due Date: December 11, 2014 2:00 p.m. Local Time Agenda Conference Room, 2nd Floor

Respondent	Altair Environmental Group	B & D Enterprises	EnviroWaste Services Group, Inc.	Evans Contracting Services, Inc.	VacVision Environmental, LLC	
Respondent City & State	Longwood, Florida	Winter Springs, Florida	Miami, Florida	Middleburg, Florida	Tampa, Florida	
Amount of Bid	\$223,404.60	\$228,640.00	\$251,630.00	\$465,300.00	\$863,850.00	
Original Proposal and Number of Copies Submitted	One (1) original One (1) Copy	One (1) Original	One (1) Original	One (1) original One (1) Copy	One (1) original One (1) Copy	
CD/Flash Drive Submitted:	Yes - CD	No	Yes - CD	Yes - CD	Yes - CD	
Bidder's Certification Form	Yes	Yes	Yes	Yes	Yes	
Contract and Acceptance Form for Solicitation No. IFB15-0048	Yes	Yes	Yes	Yes	Yes	
Bidder's Questionaire	Yes	Yes	Yes	Yes	Yes	
Minority/Women (MWBE) Owned Participation Form	Yes	Yes	Yes	Yes	No	
Veteran Business Enterprise Participation Form	Yes	Yes	Yes	Yes	No	
Addendum No. 1 Acknowledgment Form	Yes	Yes	Included - not signed	Yes	Yes	
Bid Bond	Yes	Yes	Yes	Yes	Yes	
Certificate of Insurance	No	No	No	No	No	